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QUESTION 1

When you add an ESXi 6.x host to a new Cluster, which vSphere object owns the CPU and Memory resources of the
hosts?

A. vCenter Server
B. Datacenter

C. Cluster

D. Host

Correct Answer: C

QUESTION 2

Which three options are required to use vSphere DRS features successfully? (Choose three.)
A. Shared Storage

B. Processor Compatibility

C. Datastore Cluster

D. Shared VMFS Volume

E. Resource Pools

Correct Answer. ABD

QUESTION 3

A user is trying to retrieve objects from a SharePoint server and finds the request is taking an excessive
amount of time. An administrator tries to isolate the issue and notes the following:

Application performance is poor when compared to virtual machines on other hosts.

Performance improves when the virtual machine is moved to another host. The virtual machine encounters
higher than expected CPU %Ready times. What conclusion can be reached regarding the performance
issues for this virtual machine?

A. Host Power Management is directly impacting virtual machine performance.

B. The virtual machine has a large number of snapshots.

C. The Path Selection Policy for the storage device is set differently on the affected host.

2V0-602PSE VCE Dumps | 2V0-602PSE Practice Test | 2V0-602PSE Study Guide 2/3


https://www.passapply.com/2v0-602pse.html
https://www.passapply.com/2v0-602pse.html
https://www.passapply.com/2v0-602pse.html

VCE & PDF https://lwww.passapply.com/2v0-602pse.html
2024 Latest passapply 2V0-602PSE PDF and VCE dumps Download
PassApply.com

D. Network I/O control is configured for the portgroup.

Correct Answer: A

QUESTION 4

Which two allow for the disabling of Network Rollback operations? (Choose two.)

A. Modifying the vpxd advanded configuration options and adding the config.vpxd.network.rollback key
B. Modifying the C:\ProgramData\VMware\CIS\cfg\vmware-vpx\vpxd.cfg file and adjusting the xml tag
C. Modifying the C:\ProgramData\VMware\CIS\cfg\vmware-vpx\vpxd.cfg file and adjusting the xml tag

D. Modifying the C:\ProgramData\VMware\CIS\cfg\vmware-vpx\firstboot\vpxd-service- spec.prop file and adjusting the
xml tag

Correct Answer: AB

QUESTION 5

Users of an application are reporting performance issues. The following performance values are observed
in the vSphere Web Client:

What could be the cause of the application performance issue?

A. The host is lacking the CPU resources required to meet the demand.

B. The host is lacking the memory resources required to meet the demand.

C. The virtual machine is lacking the CPU resources required to meet the demand.

D. The virtual machine is lacking the memaory resources required to meet the demand.

Correct Answer: A
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